TFe 1Y 2L ol 5T A Ly o] 27|
A

70°

@ 40° @ 45° ® 50° @55° ® 60°

Lx = (180° - 70°) = 2 = 55°




ohe 2lA Ly o] 2718 vEA 73 2L

>

@® 30° @ 45° ® 50° (@)60° ® 65°

~&B

30°

308 R
A 60" I, C

D

(ADC = 60° |22 ADAC °f|A|
/x = (180° - 60°) + 2 = 60°




(M)AD = BC
® /ADB =90°
® /B =.C

@ (ADB = /ADC
@ AADB = AADC

@ AD1BC




@® 14 @ 15 ® 16 @)18 ® 19

Q12 0] AABC o] 4]

/ABC = /ACBO|E & AABCE o|5 WAz ot}

Sox=38

T, Q220 AABC oA

/BCA = 180° - (30° + 75°) = 75°°]| 2 & AABC = o] 5 HA}
Zhggoltt,

x=10

s(x9] dolo h=8+10=18

ofll




5. g 1 o] aABC 7h FOIAS o, x, O] gEY

@x:6,y:50° @x:7,y=45°
@xz?,y:50° @ x=7 y=65°

® x=8,y=50°

/ACB = 65° |22 AABC = o| 5847 olt}.
Lx=17
123y =180°-65°x 2 =50°

oflh




o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.




7.

th 2¥olA AABC = AC = BC & o] 573 olch. BD = CD
o]1l /B =35° Y W], LACD 2] 27]=?

A

BLi82

@® 65° @)715° ® 85° @ 95° ® 105°

AABC oA

L/CAB = 35°

/BCA = 180° — 2 x 35° = 110°

T ABCD £ BD = CD ¢l o|5H#AdZHo|lng
/BCD = 35°

5 ZACD = 110° - 35° = 75°




8. T2 139 AABCO|A, AB =BC, AP = CP&t1l & uff, x +y 9]
3717
A 95°
P
C
B 0
25
@ 125° @ 135° @ 145° (@)155° ® 165°
ol FHAZAGANA HR Y] o] RS WHS F-& o] FE 35}
og
y=190°

I AABP A HZHe] 9F2 180° 0|2
x=180°—(90° +25°) = 65°
. X+y=65°+90°=155°




[e))]
=

=BC

AABC |4 AB

1O
E
9

o_‘._

~

SRR
o ¢

on =

=
Bl

@ 4 ® 45 @)5 ® 5.5

@ 35

5(cm)

A
=

=25+25

AABC
AC




@® /B = /CAD ©°|t}.

@ /B ¢t /BAD 9] Z7]9] -2 65° o]rt.
(G)BD 9} AD © Lol Az 2

@ AABC 9} AACD o] R7}te] 27]& R Pt}
OLB ¢} /BAD 9] 27|= Zth,

Lol A2 thth
® /B =50° /BAD = 15° ©|2& F7]& tf=2o},

® AABD 9|A /B &} /BAD ¢] 27|17} tt2E2 BD ¢} AD ¢




11. o2 139 AABC ¢ AEFC o4 AB = AC,EF = EG € W], zx+2y
ol 27=7?

A

@® 104° @ 105° ® 106° @ 107° @108°

~&B ~

ABCD + o| R o|BnE
/CBD = 180°-2x72° = 36°
AABC £ o] 3HAZgolBER
(ABC = /ACB = 72°

L [x=T2°-36°=36°

AEFG £ o|s8dZgolng
(FGE = 36°, /FEG = 108°

T AEFH & o|sHAZ Yol B2
(EFH = /FEH = 36°

S ly=108°-36°=T72°

Wt A zx 4 Ly = 36° + 72° = 108°

ofl

ol




12. o2 I3y} o] Zo] YAt Zo] Ho|ZE HUrt /ACB = 50°
A, 1x0] 7|9

D

@® 45° @ 50° ® 55° @ 60° (3)65°

Zo] glo]ZZ H oW /ABE = /ABC = /x°]1L
(ABE = /BAC = /x(%7})

AABC 9] WjZte] gH2 180°0| P2

. 2/x+50°=180°

/x =65°




13. oS O34 AABC & /B = (C ¢l o]5HAZoltt. ,C 9
o]5H40] AB ¢} whit= M2 D 2 & uf, AD o] Zo]&=?

A
D
A
B T~-5cm--"~

@ 3cm @ 4cm @BCm @ 6cm ® 7cm

/B =/C=172°09]1 /BCD = /ACD = 36° 9|22, /A = 36°
ojt}y. watA AABC, AADC & F YZte] 37|71 goEg
ol5HAZtgolt}, watA BC = DC = AD = 5cm ©]th,




14.

tg-e T4 W7o 2717} 2 A7HEe Aarztgoltt 8 Kol

ol

AABC of|M Al Wkl 2717k emz | (7h
(B=/COIB2AB=| (4) [---O

(A =[ () |o]2E2BA=BC -©

@, ©°l ¢JsiA

meb AABC &[ (9h) |elth.

@)0) AB =BC = CA @ (hAC
® @ «C @(a}) (A =/B=/C
® o) B4

B

>
>
os}
aQ
=
o)
=
=
)
1o
lu
N
N
)
ML
lo
g
fru
~
>
|
N
)
|
N
a

@, ©°fl 23]

(A= (/C)°o]E2 BA=BC--
( =
w24 AABC &= )




15. oh3 273 o] Hol g3 Fol Ho|ZE itk FGE = 40°

A, 1xo] 7|2

A F______ D
? X \’
B ¢

O 30° @ 40° ® 50° @ 60° ®)70°

Zo] go]=& A oW /DFE = /GFE = /x°]1l

(DFE = /GEF = /x (37})
(GFE = /GEF = /x

180°—40°
= - :700

VA
* 2




